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Honors Geometry Lessons 11-1 to 11-3 Review Name ‘4) €

SHOW ALL WORK FOR FULL CREDIT!! \)
1.) Find the value of x.
a.) Area =70 cm? b.) Area=104 m’ c.) Area =576 in’.
ey X 18 in.
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2.) The lengths of the hypotenuse and one leg of a right triangle are given.
Find the perimeter AND area of the triangle.

a.) Hypotenuse: 53 in.; leg: 45 in. b.) Hypotenuse: 85 mm; leg: 36 mm
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4.) Find the area of the shaded polygon.




5.) The area of a triangle is 225 square units.

6.) The area of a parallelogram is 216 square centimeters.
The base of the triangle is twice the height. The height of the parallelogram is two thirds its base.
Find the base and the height. Find the base and the height.
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7.) The area of a square is 256 squaref 1ts.

8.) The area of a rectangle is 84 square inches.
Find the side length and perimeter of the square. The length of the rectangle is 2 inches longer than
_ S - L twice the width.
«E} A=256  256°¢ Find the width and the perimeter of the rectangle.
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9.) In parallelogram ABCD, base AD is 25 units and 4B is 12 units. Q= w i,% §
If m/ A is 307, find the height and area of parallelogram 4BCD. O = (v~ GXw 7
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11.) Find the area of each polygon below.
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12.) Use the given information to find the value of x.

a.) Area= 80m

b)) Area=5.5 mi’
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c.) Area = 288.96 ft*
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13.) Find the area of the figure.
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14.) Find the lengths of the bases of the trapezoid described.

a.) The height is 5 meters. b.) The height is 10 feet.
One base is 3 times as long as the other base. One base is 4 feet longer than the other base.
7Z'he area is 70 square meters xThe area is 120 square feet.
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15.) Find the area of the shaded region.
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16. ) The garage roof shown is made from two isosceles trapezoids and two 1sosceles mangles
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__“Find the area of the entire roof.
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17.) The ratio of the areas of two similar figures is given. Write the ratio of the lengths of corresponding sides.
a.) Ratio of areas = 169:144 b.) Ratio of areas=112:196 c.) Ratio of areas = 125:108
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18.) The polygons are similar. ok
Find the ratio (shaded to unshaded) of the perimeters and of the areas. Find the unknown area.

A=441in2 A=175 mm?
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19.) Use the given area to find XY.

a.) ABCD ~ WXYZ b.) EFGH,]K ~UVWXYZ
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21.) Use the information about a pair of similar polygons to find all possible values of x.
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a.) The area of AABC is 5. —2—1 = —S?— b.) The area of HIJK is x + 4. ( a>2_ - 5
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The perimeter of ADEF is x.




